

$$\begin{aligned}
 1) \ a) \ h(x) &= f(x) + g(x) \\
 h'(x) &= f'(x) + g'(x) \\
 h'(2) &= f'(2) + g'(2) \\
 &= -1 + \frac{3}{2} \\
 &= \boxed{\frac{1}{2}}
 \end{aligned}$$

$$\begin{aligned}
 b) \ s(x) &= f(x) - g(x) \\
 s'(x) &= f'(x) - g'(x) \\
 s'(3) &= f'(3) - g'(3) \\
 &= -1 - 1 \\
 &= \boxed{-2}
 \end{aligned}$$

$$\begin{aligned}
 c) \ p(x) &= f(x) \cdot g(x) \\
 p'(x) &= f(x) \cdot g'(x) + g(x) \cdot f'(x) \\
 p'(4) &= f(4) \cdot g'(4) + g(4) \cdot f'(4) \\
 &= (2)(1) + (5)(-1) \\
 &= \boxed{-3}
 \end{aligned}$$

$$\begin{aligned}
 d) \ q(x) &= \frac{g(x)}{f(x)} \\
 q'(x) &= \frac{f(x) \cdot g'(x) - g(x) \cdot f'(x)}{[f(x)]^2}
 \end{aligned}$$

$$q'(5) = \frac{f(5) \cdot g'(5) - g(5) \cdot f'(5)}{[f(5)]^2}$$

$$q'(5) = \frac{(1)(-\frac{1}{2}) - (6)(0)}{[1]^2}$$

$$= \boxed{-\frac{1}{2}}$$

$$e) \ c(x) = [f(x)]^2$$

$$\begin{aligned}
 c'(x) &= 2(f(x)) \cdot f'(x) \\
 c'(2) &= 2f(2) \cdot f'(2) \\
 &= 2(4)(-1) \\
 &= \boxed{-8}
 \end{aligned}$$

$$f) \ m(x) = f(g(x))$$

$$\begin{aligned}
 m'(x) &= f'(g(x)) \cdot g'(x) \\
 m'(6) &= f'(g(6)) \cdot g'(6) \\
 &= f'(4) \cdot g'(6) \\
 &= (-1)(-2) \\
 &= \boxed{2}
 \end{aligned}$$

$$\begin{aligned}
 2) \ a) \ h(x) &= f(g(x)) \\
 h'(x) &= f'(g(x)) \cdot g'(x) \\
 h'(4) &= f'(g(4)) \cdot g'(4) \\
 &= f'(2) \cdot g'(4) \\
 &= (-3)\left(\frac{2}{5}\right) \\
 &= \boxed{-\frac{6}{5}}
 \end{aligned}$$

$$\begin{aligned}
 b) \ p(x) &= g(f(x)) \\
 p'(x) &= g'(f(x)) \cdot f'(x) \\
 p'(3) &= g'(f(3)) \cdot f'(3) \\
 &= g'(4) \cdot f'(3) \\
 &= \left(\frac{2}{5}\right)(-2) \\
 &= \boxed{-\frac{4}{5}}
 \end{aligned}$$

$$3) \quad k(x) = \frac{f(x)}{g(x)}$$

$$k'(x) = \frac{g(x) \cdot f'(x) - f(x) g'(x)}{[g(x)]^2}$$

$$k'(3) = \frac{g(3) \cdot f'(3) - f(3) g'(3)}{[g(3)]^2}$$

$$= \frac{(2)(5) - (-1)(-2)}{(2)^2}$$

$$= \boxed{2}$$

$$4) \quad a) \quad g(x) = x^2 \cdot f(x)$$

point

$$g(4) = 16 \cdot f(4)$$

$$= 16 \cdot 5$$

$$= 80$$

$$(4, 80)$$

slope

$$g'(x) = x^2 \cdot f'(x) + 2x f(x)$$

$$g'(4) = 16 \cdot f'(4) + 8 f(4)$$

$$= 16(4) + 8(5)$$

$$= 104$$

$$\text{Tangent: } y - 80 = 104(x - 4)$$

$$b) \quad h(x) = \frac{f(x)}{x-5}$$

slope

$$h'(x) = \frac{(x-5) \cdot f'(x) - f(x)(1)}{(x-5)^2}$$

$$h'(4) = \frac{(-1) \cdot f'(4) - f(4)}{1}$$

$$= \frac{-4 - 5}{1}$$

$$= -9$$

$$\text{Tangent: } y + 5 = -9(x - 4)$$

point

$$h(4) = \frac{f(4)}{-1} = -5$$